M\ (j‘\'pj RJ”J\:.;‘;S\ (}‘\*S’ ciyalady! (’ju\f\?lf
> J 4 zed C“A“r‘“j
B Ll ol

A 30l g}\—d\ é\l\ J{Jl\) 8y 9o Aoy 03 3;.’&\;\

@\ﬁl‘é@)}.\j\i&ﬁ&&d’) e -1

25)}-\3\:\’,;3:59&{,0.‘5—1

PSSy ame 5593 I U el o) Bl L) o B U Lgsii ) 5L T 0 I L
p3adl g ot = ol g saf = (5 0) 8y gl B
ol 3 and) 48 (3 el
pradl g ot o ST U5V g sntt 05505 1 (120 [z ) oy B —
891 i + ) = J g0¥)

s 510000 3o 515 ¢ 540000 6,08 Juol sl s 50 051872 5 ot Ll 2010/01/01 & 2 Jtee
G sally Uy Sty 2510000 w5 55000 & 51 3150 31000

Al ) slas) 1
310000 axas Slomza 236000 &5l 5150 2310000 s 310000 gle : IS el 518" 2l 24 3
254000 Uy dl 3550 (356000 B sl (2512000 At 35000 53as

ol b me Balihl 415 slasl -2
a4 slas) =1

2010/01/01 a-Lesy! a5l

AL p ) Lk o3, Ay J 52N Sl 3,
Aoz Ji gal Lyl pxé J gl
40000 i e el 101 10000 ol 213
10000 ol gsl y Sl 215
dyylr J}ﬁf
5000 RN 31
10000 o 512
5000 B sdiw 53
40000 ¢ 5 40000 ¢ 30!

il Hlgbsl g dalidl a0 slae -2
(4000 +40000y — (6000 +12000 +5000 +10000+ 6000+ 10000+10000 ) = p padt = J 52V = 5, ) s
7215000 = 44000 — 59000 = &, 3l i

2010/12/31 g ls dpelid) 251 240

1




b ¢y Cladl o3, el J sV Sl o3,
Lols Jigal iyl pé J sl
40000 i a2 Jlel 101 10000 ol 213
15000 590 Ao 120 10000 sl y lies 215
dylr o g igylr J ol
4000 b g5l 4340 401 6000 RN 31
10000 s Olmzie 355
5000 Slas 411
12000 o 512
6000 3 s 53
59000 ¢ o) 59000 ¢ o)

pratl g ot r BV ¢ et 055 o 1(129)7) 8yl dond) —
89 i — 32| = J 508!
AW olleall T 2l 44 (3 1

eMes <€>8000 Ao ol LC:6OOO Z\.“Jj ) ga cCJSOOO Ji- Oldas cCﬂOOOO Oldas 46310000 L}L«e

238000 U ypdl 33550 315000 255 295 57000 B s 39000 ks 33000
ol bl g Aalisl 250500 slas) v
(5000y = 63000 — 58000 = ¢ pad! — J 5oV = 5, gl s 1S
2010/12/31 g )l dpelessl 3515l

AL p yak) Lkl o3, A J 52N Sl 3,
Lol Jigal Ly pné gl
40000 i e Jel 101 10000 als 213
5000y 5y sl G 129 10000 gl y Slias 215
Bylr b o gas 5000 JB ol | 2182
15000 Sy oy 164 iy ylr J geof
dyylor p s 6000 RN 31
8000 Slypd) 3,50 401 8000 dniae Sl 355
3000 Slas 411
9000 o 512
7000 3 pi 53
58000 ¢ 5o 58000 g o)

(e ) il b s -TT




U G )y B 31 5y A8l Bl Al ga il a5 —1
o) su e ole ug": il —2
85l Bnss ()51 () Lol Jipsi = o pp v
1
N L et
C:SSOOO= 4000 = 59000 = 2 ¢ -
2555000 = 15000 + 40000 = - ¢ ¢
2 Jue
z335000 = 23000 — 58000 = » ¢ ¢
535000 = 5000 — 40000 = o ¢



